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Note :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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Attempt Five questions in all.

All questions carry equal marks.
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Who are creative and talented children ? How can a teacher

promote their creativity and talents ?
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What are Pia-get and Vygotsky's approaches to cognitive
development ? Discuss how these approaches are useful for
teachers ?
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What is emotional development ? Discuss how family,
school and media contribute in emotional development of

children.
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What is self-concept ? Discuss the conflicts and dilemmas
at various stages in the development of self as pn_:sented in
._F.rikson's theory.
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_Discuss the information processing approach to learning.
How this approach provide better space for teaching learning
process. Answer the question with examples.
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Who are socially and culturally disadvantaged children ?
Discuss the kind of problems they face in 'schools for
adjustment. .
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7 Write short notes on any fwo of the f_ollowing :
(a) Social intelligence
() Motivation and learning
(¢) Group guidance

(d) Slow learners.

frfafaa & ¥ frdl @ w wfea feaforl fafew -
.(a:)mmﬁia;gﬁ

(@) shnron & s

(M Wﬁﬁﬂ

(9) WU =4 |

7622 4 2,000



